HPE_CIEF02-Zapfenempfindlichkeit Ymax(M)=1
I'F02,10)=B11XFo2,1(A)+B12Y Fo2,1(A) +B13ZF02,10)

Bjj 0,2105 0,8550 -0,0396\{570)
2,01 QO00: ST Foz’l()\):22,89
Xro2,1=0,3054 Yggp 10,3099
oFr-—~—"""""""" &4~ ;" """~ =-=°--
Q00
00 400 500 600 700

WellenlangeA/nm

CGNB0-1A_Q00

HPE_CIEF02-Zapfenempfindlichkeit ynax(A)=1
Moz, 1(0)=B21XFo2,10)+B22y Fo2, 1M +B2aZFo2,1(A)

By -0,4170 1,1772 0,0786 A{545)
2,0 QO00: ZI’TTFOZ’J_()\):].Q,51
X|:02‘1=0,3054y|:02|1=0y3099
or-~—"~""~""""f@ " " "~""~""~""~"~"~~-°--
Q00
0,0

400

500 600
WellenlangeA /nm

700

CGNB0-2A_Q00

HPE_CIEF02-Zapfenempfindlichkeit Yax(A)=1
SF02,1M)=B31X Foz,1(A)+Bazy Foz, 1(A) +Baazroz, 1(N)
Bsj 0,000 0,000 0,5168 At-445)
QOOZ >3 FOZ,I()\):14'49
Xr02,1=0,3054 Yrqp 1=0,3099

2,01

1,0f

Qoo

0,0

400

500 600
WellenlangeA /nm

700

CGNB0-3A_Q00

HPE_CIEF02-Zapfenempfindlichkeit Yg,,,=100
I'Fo2,dN)=B11XFo2 {A)+B12YFo2 M) +B13Zro2 {A)

By 0,2105 0,8550 -0,0396\{570)
10Ty m =510, 565, 620 QO0: T ggp dA)=101,34
Troz.dA1.m2=2,16, 4,32, 2,1
7,5
X sl
2,9
Q00
0.0 400 500 600 700

WellenlangeA/nm

CGNB0-4A_Q00

HPE_CIEF02-Zapfenempfindlichkeit Yg,,=100
Meo2 dA)=B21XFo2 M) +B22Y Foz M) +Boazroz {A)

By -0,4170 11772 0,0786 A{545)
10fA1 =501, 540, 587 QO0: £ g, {1)=86,37

Mro2,dM m 2=2,26, 4,52, 2
7.9
50p — - - - - -~ - - -~ - - - ------
2,5

Q00

0.0 400 500 600 700

WellenlangeA/nm

CGNB0-5A_Q00

HPE_CIEF02-Zapfenempfindlichkeit Yg,,=100
SF02,4N)=B31Xro2 dA) B3y Fo2 dN)+B3azZroz A)

By 0,000 0,000 0,5168 A¢-445)
10TAy . =417, 440, 474 QO0: T5 g {N)=64,12
Sro2,dA1.m2=2.76, 5,53, 2,78
7.9
50" """ """ " """ ~-------
2,9
Q00
0.0 400 500 600 700

WellenlangeA /nm

CGNBO-6A_Q00

HPE_CIEF02-Zapfenempfindlichkeit | j44(A)=1
TFo2,fN)=[B 11X Fo2,iN)+B12YFo2,iM)+B13ZFo2,M)]
Byj 0,2105 0,8559 —0,0396\{570)
A1, 2510, 565, 620 Q00: 3T oy {N)=101,34
TF02.4}‘1,m,2):2116v 4,32, 2,1

2,01

1,04

Q00

400

500 600 700

WellenlangeA /nm

CGNB0-7A_Q00

HPE_CIEF02-Zapfenempfindlichkeit Myp4(A)=1
Mgz, (AN)=[B21X Fo2,nfA)+B22Y Foz, M) +B2aZro2 nA)
By —0,4170 1,1772" 0,0786 A(545)
M.m =501, 540, 587 QO0: ST g, 4A)=86,37
MEo2,dM m 2=2,26, 4,52, 24

2,0]

1,0

Q00

400

500 600 700

WellenlangeA /nm

CGNBO0-8A_Q00

CGN80-7N



